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BRATE  HEAH ERB=H
BEXE— AR
e b 2k 5 . Eih HEE iz HE |we]  (HE
BREOR (B2 i BE E45 100| ke
Eih HErE fiE HE ppy (BB Fa 5 100| kg
R fRfEs ¥E'a'3k 250| 1@ b 100| kg
Z450 WY Fh/NF4 Y4k 300| {& Bk EAR YA 100| ke
=&l B4 thR47Y4k 300| 1@ bali ETHY 100| kg
ERS T KP4k 50| & X5 BES B M55 100| kg
2995k 100| & HEA WwF mEMNIY 100| kg
FOAR L hMaE N 10A 500| {&@ =R R &R 50| kg
B L5H45 K76k 300| 1@ 2 EML 5705 kg
D7%2 A @ it 750 kg
RN HF5n th7Y 15k &
& 1,800 & g
BEXE_H Eih HErE A1 ¥E |Ee]  {HE
. 12 xR 40 50| {&
R EES #9744 50| {&
Eih HErE s 2 el {BE HE 74 &
BiRs RHEN H4°L 600| kg $EIs 4R 50| {8
REX S =HN T7HY 100| {& = #9554 50| {&
&5t =R HIt 80| kg VA FEF 1A &
BESN WES B# 50| ke pLli] Lyask 50| {&
Avask B4 &= 2,000| ¥ B5E L) 100| &
Hi 730 kg Eig =)= FRLAYSE 50| {&@
100 {& BB WUtq 22 400| 8
2,000 #%& 4545+ 200| 1&
11]m] 45Ya- Khv14+ 150| @
BEEE=L i 1,150 &
R - EEERR EEEEE
Eih HErE ki = |t {HFE #iE—2
R LB [WhvE., $n°5 100| &
LR FLY, 5 200| {8 Eih HEE iz HE |wa]  (HE
WS E524+ 100| & REAS RES =94 2,800| #%
&R @ BERBES [vinst -V % 1,000| &
KAnid YY4h, ANA 5t 200| & ENTT 350| &
12 1R3Y), Lyast 1,800| 1A Kast EARS [#|EIR 100( &
X5 A AT 100| & Fich::Ea 8 =7y 350 &
BES K71 17595 100| & k) =579 200| &
A &N 300 ke BEs KEMS |&EETS 600 ke
R hiE ETHY 50| kg RN Wis EARF 100[ &
/N EXR wANAas & £ 600 kg
Eig HFE h5t 100| & 1,750 X
EiER HANNE, ATHh 100| 1& 3,150 &
1) FhyE 100| &
HEA 1532 Frhvst 200| & &% 2430 ke
X5 KiRs PAUL)) & 6,350 {&
ERE h#k a5t 100| 1@ 1,750 &
BiR JFLER |44 100| {&@ 5,150 &
5 350 kg
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